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Quiz for Section 4.3

1.  (4 pts)  An opinion poll asks an SRS of 1500 adults, “Do you jog?”  Suppose that the population proportion who jog (a parameter) is p = 0.15.  To estimate p, we use the proportion 
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in the sample who answer “Yes.”  The statistic 
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is a random variable that is approximately normally distributed with mean μ = 0.15 and standard deviation σ = 0.0092.  Find the following probabilities:
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2.  (6 pts)  A couple plans to have three children.  There are 8 possible arrangements of girls and boys.  All 8 arrangements are (approximately) equally likely.
(a)  List the 8 possible arrangements of the sexes of the three children.

(b)  Let X be the number of girl children the couple has.  What is the probability that 
X = 2?  __________

(c)  Give the probability distribution of X by making a table below.
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